E9019.3,2022

T6 Series - Single Pumps

M Shape and introduction

High pressure and high performance dowel pin type vane pumps are widely used for plastic machinery, casting machinery, metallurgy
machinery, pressing machinery, refining machinery, construction machinery, marine-Machinery.

The main features are:

1.With dowel pin vane structure, it can work in high pressure, low noise and long lifetime.

2.This vane pump can fit wide viscosity hydraulic medium and be started at low temperature and work at high temperature.

3.As the vane pump adopts bilabial structure vane, it has high oil polution resistance and wide speed scope.

S P
i Hydraulic signs
—
— — ~
— 15 —
I
— =)
N
\_ -
M Model descriptions:
T6C -17 -1 R 00 -A 1
Code Flow code Shaft type Direction of Outlet Positions Designing Sealing Level
of series rotation No.
03. 05. 06. 08. 10.
T6C 12, 14, 17, 20. 22, i 4 (viewed from
viewed from
25, 28, 31 shaft end of pump)
shaft end of pump) 1-S1
o Nitrile rubber
14. 17. 20. 24. 28. 00-Opposite inlet port
T6D 31. 35. 38. 42. 45, See of shaft R-right hand for A 555
50. 61 . 01-Inline with inlet
clockwise Fluororubber
90° CCW from inlet
42, 45, 50. 52. 57. L-left hand for
T6E 62. 66. 72. 85 .
counter clockwise 90° CW from inlet

T6 Series — Vane Pumps 01



E9019.3,2022 EThan

M Technical parameters

Max. pressure Mpa Max. speed r/min
Flow Gf:ometric Antiwear hydraulic Gf:neral hydraulic Water glycol ﬂuid Genera.l Water glycol )
series code displace— oil oil or phosl?hate or water—oil hydraulic fluid or Min
(USgpm) ment eater fluid emulsions oil or phosphate spee.d
mL/r antiwear cater fluid | I/min
hydraulic or water—oil
oil emulsions
Instant | Continuous | Instant | Continuous Instant | Continuous
03 10.8
05 17.2
06 21.3
08 26.4
10 34.1
12 371 28 24.5 21 17.5 17.5 14 2800 1800 600
T6C | 14 46.0
17 58.3
20 63.8
22 70.3
25 79.3
28 88.8 21 16 16 2500
31 100.0
14 47.6
17 58.2
20 66.0
24 79.5
28 89.7
6D " 983 24.5 21 21 17.5 17.5 14 2500 1800 600
35 11.0
38 120.3
42 136.0
45 145.7 2200
50 158.0 21 16 16
61 190.5 12 8 8 8 8 8
42 132.3
45 142.4
50 158.5
52 164.8
T6E = 179.8 24.5 21 21 17.5 17.5 14 2200 1800 600
62 196.7
66 213.3
72 227.1
85 269.0 9 7.5 7.5 7.5 7.5 7.5 2000

T6 Series — Vane Pumps 02



E9019.3,2022 EThan

B Installation Dimensions

L1 A1 A1
T6C
L2 L
T6D
T6E
AN A CD CD%
A A\
S T B1 B1
|
< L1 T6C
Fan\
NS4 “{ @ E 38.1
F 82.3
c1 c1 G 161.6
T R J1 101.60
o J2 101.55
. N 146.1
L1 E F ‘ 0 1745
L2 | | P 14.3
] - t
K1xK2 \ | [ Q T6D | T6E
P N D1 D1 E | 381 | 523
1 F | 874 | 110.0
DIA H ”””” { ”””””””””” - G |184.9|2253
9 J1 |127.00/127.00
L E 32 [126.95]126.95
N |[181.0|181.0
G 0 |212.4 2130
oP | 175 | 175
Model S @i Ma(th‘r’T:‘)‘”e L1 L2 DIA K1xK2 H1 M1
1 275 71.4 38.1 22.225/22. 200 6.35x6.30 24.95 M8x16
T6C 2 238 58.2 31.7 22.225/22. 200 4.76x4.71 24.53 -
3 343 40.7 24.5 SAE J498b 1class, 16/32DP 13T -
4 ° 45.5 24.5 SAE J498b 1class, 16/32DP,15T _
1 [ 83.6 49.3 31.750-31. 700 7.94x7.89 35.27 M10x20
6D 2 577 73.2 38. 1 31.750-31. 700 7.94x7.89 35.27 -
3 ° 55.2 38.0 SAE J498b 1class, 12/24DP, 14T -
4 ° 77.7 48.0 SAE J498b 1class, 12/24DP, 14T _
1 ° 90.9 50.8 38. 100-38. 050 9.52x9.47 42.36 M10x20
ToE 2 577 61.9 38.1 31.750-31.700 7.94x7.89 35.27 -
3 ° 55.2 38.0 SAE J498b 1class, 12/24DP, 14T —
4 [ ] 62.2 31.5 SAE J498b 1class, 12/24DP, 17T _
@work at maxlmum flow and pressure.
. Install Dimensions(mm)
oil port Flange
Al B1 $C1 D1 T1 Thread
T6C P 17 FO8 26.2 52.4 25.4 76.2 3/8"-16UNCx19. 0
s [1-1/2” F12 35.8 70.0 38.1 76.2 1/2"-13UNCx22. 4
P |1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22. 3
T6D s 2 F16 42.9 77.8 50.8 82.6 1/2"-13UNCx23. 9
P [1-1/2" F12 35.7 69.8 37.1 98.6 1/2"-13UNCx23. 4
T6E S 3 F24 61.9 103. 4 75.0 98.6 5/8"-11UNCx24. 0

T6 Series — Vane Pumps

03




E9019.3,2022 EThan

T6 Series - Double Pumps

Hydraulic signs
B Model descriptions
T6CC -25 17 -1 R 02 -C 1 10
- Flow—shaft and Flow— d port Design . X X
Series OWme?p an ow 131(1)1‘1]1? en Shaft type Rotation Positions | number | Scaling Level Port dimensions
03. 05. 06. 08. 03. 05. 06. 08. . 00. 01. 10. 11,
T6CC | 10, 12. 14, 17. 10. 12, 14. 17, (viewed from See installation
20. 22, 25, 28, 31| 20. 22. 25. 28. 31 shaft end of dimensi
mensions
14, 17. 20. 24. | 03. 05. 06. 08. pump) st
TéDC | 28. 31. 35, 38. 10, 12, 14. 17, see Nitrile rubb
42, 45. 50. 61 20. 22. 25. 28. 31| Sce of shaft| right hand picturs c itrile rubber
; below
io. 45. 50 5p. | 03 05. 0. 08, for clockavise 555 .
T6EC 57‘ 62‘ 66‘ 72‘ gs | 10~ 12, 14,17, Fluororubber no options
e e e 20. 22. 25, 28. 31 left hand for
42, 45, 50. 52. 14,17, 20, 24, counter”
T6ED | 57. 62. 66. 72. 85| 28+ 31. 35. 38, clockwise
42, 45, 50, 61
Specification is as the same as similar single purmp, please refer to Page T6 single pump specification.
M Port positions(Viewes from shaft end of pump)
00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 P1-S
T6CC. T6DC. T6EC to to 1)s| ([to s(1to to 1y (|to F',Sz( to to 12
S S-P2
08 09 10 11 12 13 14 15
PlaS P1_S Pl P1 Pl P1 P1
to P2<(o (O 1) P{to >s to P28<to P2 (@) P2<co
——— e
P2 P2 S S
16 17 18 19 20 21 22 23
Pl P2 Pl P1 Po. P1 Pl po p1 P poa Pl
(o o (o t©o )| ([to Bs| (Jto )s| ([t ws| ([0 ns
- - #0r | P2 = - P2 | P2
24 25 26 27 28 29 30 31
P1-S po P1-S P1-S P2 4P1=S Pl p2 pP1 P1 poa P1
to o D | (o ([to [ |s@to ]) |eo (o S<to
P: P2 P2 | P
16 01 02 03 03 05 06 o7
T6ED P1-P2 P1-P2 S-P1-P2 P1-P2 P1 p1 P1 P1-S
(o o 1s| (Jto s(1to ©o 0y ([to |) | (O 13
S S-P2
08 09 10 1 12 13 14 15
PlzS PL_S Bl =3} Bl Bl B =]
to ) |e{1to o 1) P{(o s| ([to wp2 s(to P2 {(o p{(o
S - -
P2 P2 S P2 S

T6 Series — Vane Pumps 04



E9019.3,2022 EThan

B Installation Dimensions

T6CC
E | 38.1
F 1016
G | 2656
T6CC L1 A1 A1 A1 1] 882
TeDC L ‘M‘—’ -— J1 [101.60
= J2 [101.55
T6EC ‘ C) C) N | 148.0
T6ED o P ,\\J O | 1745
d oP| 14.3
> o @ T6DC
=
Q\_@ E | 38.1
g\Q F | 1143
\ H G | 286.0
c1 ci c1 11095
J1 [127.00
m m i J2 |126.95
N | 181.0
0 | 2154
oP| 175
T6EC
E| 523
0 F ‘ | ‘ F| 1185
‘ G | 3316
1] 136.7
J1[127.00
Kixk2 J2 [126.95
D1
N | 161.0
0| 213.0
DIA I oP| 17,5
T6ED
E| 523
F 1335
G G [361.0
11480
J1[127.00
J2 [126.95
N | 181.0
o[ 213.0
®P| 175
Dimensions (mm)
oil port Flange Al B1 »CA D1 T1 Thread
UNC
P1 1" Fo8 26.2 52.4 25.4 76.2 3/8"-16UNCx19.0
01-11:3/4" FO6 222 477 19.0 76.2 .
Tecc P2 00-10:1" Fo8 26.2 52.4 25.4 74.7 3/8"-16UNCX19.0
s 10-11:2-1/2" | F20 50.8 88.9 63.5 84 1 1/2"-13UNCx23.9
00-01:3" F24 61.9 106.4 76.2 5/8"-11UNCx28.4
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
T6DC P2 q" FO8 26.2 524 25.0 74.7 3/8"-16UNCx19.0
S 3" F24 62.0 106.4 76.0 88.9 5/8"-11UNCx28 4
P1 1-1/2" F12 35.7 69.8 37.1 98.4 1/2"-13UNCx23 4
T6EC P2 7" FO8 26.2 52.4 25.0 74.7 3/8"-16UNCx19.0
S 312" F28 69.9 120.6 88.9 102. 4 5/8"11UNCx28 4
P1 1-1/2" F12 35.7 69.8 371 98.4 1/2"-13UNCx23 4
T6ED P2 1-1/4" F10 302 58.7 295 101.6 7/16"-14UNCx24.0
S 4" F32 778 130.2 101.6 102. 4 5/8"-11UNCx30.0

T6 Series — Vane Pumps 05



E9019.3,2022 EThan

M Installation Dimensions

T6CC. T6DC., T6EC, T6ED
L1 L1
L2 |— ]
L2
[] K1xK2 U
T DIA
O /
H1
Model Shaft code Max torque L1 L2 DIA K1xK2 H1 M1
(N. m)

1 238 58.2 31.7 22.225/22.200 4.76x4.71 24.53 —
T6CC 2 357 714 38.1 25.4,25.370 6.35x6.30 28.22 M8x16

3 545 455 25.5 SAE J498b 1class, 16/32DP ,15T -

4 343 40.7 245 SAE J498b 1class, 16/32DP ,13T —

1 721 83.6 49.3 31.750-31.700 7.94x7.89 35.27 M10x20
T6DC 2 577 73.2 38.1 31.750-31. 700 7.94x7.89 35.27 —

3 [ J 55.7 38.0 SAE J498b 1class, 12/24DP, 14T -

4 [ ] 7.7 48.0 SAE J498b 1class, 12/24DP, 14T -

1 [ ] 90.9 50.8 38. 100-38. 050 9.52x9.47 42.36 M10x20

2 577 61.9 38.1 . -31. 7.94x7.89 35.27 -

T6EC. T6ED 31.750-31.700 X
3 [ J 55.7 38.0 SAE J498b 1class, 12/24DP, 14T -
4 [ ] 62.2 31.5 SAE J498b 1class, 12/24DP, 17T —

@work at maxlmum flow and pressure.

T6 Series — Vane Pumps 06



E9019.3,2022 EThan

T6 Series - Treble Pumps

S
= P2 ™ P1 Hydraulic sign
JAER)
ﬁu% ) ]
= )
! |
= U
N BSiEeA
TeDCC -42 17 -10 = R 02 -A 1 01
Sofies Flow—shaft and Flow—middle Flow—cover end Shaft . port Design Sealing Level Port
Pump Pump Pump alt type Rotation Positions | unmber g dimensions
14, 17. 20. 24, | %> 0% 06 03. 05, 06, 08, (viewed from
08. 10. 12. 10. 12. 14, 17.
T6DCC | 28. 31. 35. 38. shaft end of
1 45 . &1 | 1 1720, 20. 22. 25. 28,
Y 22, 25, 28, 31| 31 pump)
ISl 00. 01
14, 17. 20. 24. ;2‘ ;; 2(1’ ?g‘ ?g ?i‘ (1’3‘ See of | righthand s Nirile rubber| o
. . . . ~ ~ ~N N ~ ~ ~ h ft plCturS . .
T6DDCS 4212 i; 23 2? 35. 38, 42 |20, 22. 25. 28, | for clockwise | below | installation
o T 45, 50. 61 31 5-85 dimensions
Fl
42. 45. 50. 52. | 14+ 17.20. | 03. 05, 06, 08. left hand for uororubber
T6EDC 24, 28. 31. 10. 12, 14, 17, counter
T6EDCS| 57> 62 66, 72,
85 35, 38, 42 20. 22. 25, 28, clockwise
45, 50. 61 31
M Port positions(Viewes from shaft end of pump)
00 01 02 03 04 05 06 07
P1-P2-P3 P1-P2-P3 S-P1-P2-P3 P1-P2-P3 P1 P1 P1 P1-§
T6DCC. T6DDCS, —=— = —=— —=— = s o = = oy
to to 1)s| ([to |) |s(ato to 12| ([0 |) |Fheo (o 13
T6EDC. T6EDCS P3
S 5-P2-P3
08 09 10 1" 12 13 14 15
P1_S P1-S k] P1-P2 P1-P2 P1-P3 P1 P1-P3
S
o |) [Fieo o 0| ([to &0 SRS
P2-P3 P2-P3 SP3 P2-P3
16 17 18 19 20 21 22 23
S-P1.P2 S-P1P3 S-P1-P3 S-P1-P3 SB S-P1.P3 P1-P2 P1
to >:3 to Pe< to (o 12 " PR (O to >:Ss Bmeo 1)
E— R
P3 P2
24 25 26 27 28 29 30 31
p1 Pl P1 P1gP3 P1-S P1-S P1-S P1-S
(O Eg ii(lfo 5< (O gg (O (O 12 PZ&{O (o >o3 Pa(1LO
T = ST B ™ P2 -
32 33 34 35 36 37 38 39
P1-S P1-S P1-P2 P1-P2 P1-P2 P1-P2 P1-P2 P1-P2
P{ (o }zp{ (o >:3 (o Ds|s(1to (O 1) p{ © |) |e8to Hs|s(110 1P
L
P3 P3 S S
40 41 42 43 44 45 46 47
P1P3 PP3 PLP3 PLP3 PLP3 PL.P3 _Bl £l
(o 1) S(F;ED (o 2 pz(§co (1O Dpded1EO W)s p{to s
P2 P2 s S =

T6 Series — Vane Pumps 07



E9019.3,2022 EThan

T6 Series - Treble Pumps

M Port positions(Viewes from shaft end of pump)

48 49 50 51 52 53
T6eDCC. T6DDCS. e id! e - = il
S s < P2<
T6EDC. T6EDCS PSF’?(fO 4 (I ‘) (© (©
P2 SP2 SP2 SP3 SP3
56 57 58 59 60 61
Bl P1 = _ Bl = P1
PS3 (o >P2 (’ P ‘) ()‘ P< {©) P25< (o
B Bz = S P3
64 65 66 67 68 69 70 71
P3 p1 Py p3 p1 2 P3, Bl Bl P3 2l Bl
" 4 f—— + ~
#{1to |) pito |) |e{eo |) [elto (o (o to ]) | (Lo
S S R LS S-P2 S-P2 P2 P3| P37 sp2
72 73 74 75 76 77 78 79
P3Pl Bl op3 Bl = p3 P1-P2 P1-P2 p3 P1-P2 P1-p2
(0 V| (Tto | ([t0 Bp2| ([0 1| ([t0 (o (o ) <ro
T S S P S S SR
80 81 82 83 84 85 86 87
p3 @pm P1™5q P1 P1 p3. P1 P1  p3 P1 pq
%8 T s T —— s
PS(E> 2p b > S{to P{ro $<to s(nto ) S@ sQro
P3| P3 7] 7] P2 3| P3Py
88 _ 89 90 91 2 93 94 9%
?_'_,_ I P3 =4 J=1| p3 PLP2 PLP2 p3 PLP2 PLP2
SfO ID' to >°25<f0 P2 S<(O P2 S<(O s(htO s(HtO > (o
P3 | P3 = P3 | p3
96 97 98 99 1A 1B 1c 1D
P3_pis PLS, P3 P1.S P1.S p3, P1.S P1S_p3 P1.S _PLs
(1 P{to P2<(o > PzQ(o @ @ o ) "
M 7 P2 ik R
1E 1F 16 1H 1J 1K 1L ™
P3 P1_S P1=S, p3 P1-S PlaS p3 P1SP2 P1,S:P2 o P1.S-P2 P1-S-P2
<to P2l (| tO BP2|s(|tO Bpq (| 1O >’2 <to to o |) <to
P3| P3Y P3 | p3
N 1P 1R 1S 1T 1 [ W
p3 P1 Pl ps P1 P1 - Pl p3 P1 p1
{10 SP<(O sp{(o >s P2<(o s <to s| (Jto >s ') (o 1)s
P3| P8 Pz P2 A e
1X 1Y 1z 2A 28 2c 2D 2
P, il Bl o P3 Bl =1} P3_PLP2 PLP2 py | P2 PL.p2
S [——
<('O & (|to >psz (o >p32 <(O P2 (O 1)s {0 >s (O 1)s ((O s
Y - 1
P3 |P3 P3| p3Y

T6 Series — Vane Pumps 08



E9019.3,2022 EThan

M Installation Dimensions

L1 A1 A1
L2
‘ D &)
‘ © ©
N ~—
v o )
5
C1 C1
T T T
(6]
L1 ‘ E ‘ F ‘ | ‘ Q ‘
N | \
L2
K1XK2 r = 3‘_ — TeDCC
5 = = E | 381
- LI I F | 138.0
3 | H G | 404.0
1| 119.3
T | 3 J1 [127.00
J2 1126.95
N [ 181.0
¢ O | 2124
dP| 17.5
Q| 844
Max torque (N. m) Dimensions (mm)
Shaft code
T6DCC L1 L2 DIA K1xK2 H1 M1
1 Straight key:No SAE (¢ 31) 721 83.6 49.3 31.750-31. 700 6. 35%6. 30 34.6
2 | Straight key:SAE CC (¢ 38) 1108 89.7 50.8 38.100-38. 075 9. 52x9. 47 42. 4
3 | Spline :SAE C [ J 55.2 38.0 SAE J498b 1class, 12/24DP, 14T
4 | Spline :SAE C [ ] 61.0 31.5 SAE J498b 1class, 12/24DP, 17T
6 | Spline :No SAE [ ] 76.0 48.0 SAE J498b 1class, 12/24DP, 14T
Dimensions (mm)
oll port T1Thread
A1 B1 $C1 D1 rea
UNC
P1 1-1/4" 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
P2 1" 26.2 52.4 25.0 101.6 3/8"-16UNCx19.0
TeDCC 01:3/4” 22.2 47.7 19.2
3/8"-16UNCx19.0
P3 00:1 26.2 52.4 25.4 a7 X
S 4” 77.8 130.2 101.6 127.0 5/8"-11UNCx30.0

T6 Series — Vane Pumps

09



E9019.3,2022 EThan

M Installation Dimensions

L1 Al A1 Al Al
L2
—— @ 4 ]
o ) . \ 2> ; -
;. B 5 z 5C 5
=
%\« [ :
c1 c1 c1 c1
T T T T
o)
L1 E F [ Q
N B
N1 L2 T6DDCS
— E | 38.1
S F |148.5
K1XK2X 4 | — ﬁ\ V&[40
T D o j 1 [125.0
z N\ N 3 J1[127.00
T — 128.95
©) o) < R T O L & ETTEEEEEE deofpodeaan - < B | R R A
5l r ~ i N | 181.0
= = N1| 114.5
T o
L ﬁ - o|213.0
oP| 17.5
Q| 120
G
Max torque (N. m) Dimensions (mm)
Shaft code
T6DDCS L1 L2 DIA K1xK2 H1 M1
1 | Straight key : SAE-C 686 84.0 49.3 31.750-31. 700 7.94x7. 89 35.27 M10x20
2 | straight key : SAE-CC 1148 91.0 50. 8 38.100-38. 075 9.52x9. 47 42.36 M10x20
3 |Spline: not SAE 883 84.0 60.0 34.900-34. 850 7.94x7. 89 38.42 M10x20
4 |Spline: SAE-C 971 56.0 38.0 SAE J498b 1class, 12/24DP, 14T
6 | Spline: SAE-CC () 46.0 31.5 SAE J498b 1class, 12/24DP, 17T
Dimensions (mm)
oil port
T1Th
Al B1 ®C1 D1 read
UNC
P1 1-1/4" 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
P2 1-1/4" 30.2 58.7 31.8 101.6 3/8"-14UNCx24.0
T6DDCS 01:3/4” 22.2 47.7 19.0
3/8"-16UNCx19.0
P3 00:1” 26.2 52.4 25.4 4.7 X
S 4" 77.8 130. 2 101.6 115.0 5/8"-11UNCx30.0
T6 Series — Vane Pumps 10



E9019.3,2022 EThan

M Installation Dimensions

L1 | A1 A1 Al Al
L2 > !
| I
O N L
|| © > O

J1-J2
]
=
B1
B1
N

4

B1

T6EDC

E [ 42.9

133.3

| [
/ L'j\

C1 C1 C1 C1 G | 468.0

T T T1 T 1 [148.4

250h8

N | 315.0

L1 E F | ‘ Q 0 [273.0

Q 1120.0

‘ | ‘ dP| 22.0

e N -
& L = T6EDCS

F | 1333

K1XK2
\ W E | 42.9
a

G | 468.0

DIA
|
]
|
|
|
|
|
|
T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
T
|
|
|
|
[l
|
|
|
1
|

/\
|
|
|
|
|

148.4

| Z J1165.05
J2 |165.10

P
H1

| ]E:L N | 315.0

U O L~ 0 | 273.0

W1 oP| 220

®

Q | 120.0

Max torque (N. m) Dimensions (mm)
Shaft code

T6EDC | TGEDCS L1 L2 DLA K1xK2 H1 M1

-

Straightkey:No SAE($31)| @ [ 92.0 63.0 45h7 45h7 48.5 M12x24.0

N

Straight key: SAE CC (¢ 38) ( 100.0 63.5 44.450—44. 400 11. 11x11. 06 49.3 1/2"UNCx24.0

w

Spline :SAE C ® 75.0 75.0 SAE J498b 1class, 12/24DP, 14T

Dimensions (mm)

oil port

A1 B1 »C1 D1 T1 Thread

UNC

P1 1-1/2" 35.7 69. 8 37.1 139.7 1/2"-13UNCx30. 0

P2 174" 30.2 58.7 31.8 101.6 7/16"-14UNCx24. 0

T6EDS 01:3/4" 22.2 47.7 19.0
/8"-16UNCx19.
TeEDCS | P3 00:1” 26.2 52.4 25.4 7 3/8"-16UNCx19.0

S 47 77.8 130.2 101.8 115.0 5/8"-11UNCx30.0

T6 Series — Vane Pumps 11



E9019.3,2022 EThan

T6 Series - cartridge

B Model Descriptions:

Front pump cartidge TeDC -45 R 1

Cartrldge name Series Flow code Rototion Sealing Level

] ) T6C. T6CC. T6DC. 03. 05. 06. 08. 10.
Single pump cartidge T6EC. T6DCC. 12, 14. 17, 20. 22, (viewed from 1-S1, NBR seals
T6DDCS. T6EDC (S) 25, 28, 31

Front pump cartidge shaft end of
. ) TeD. T6DC. T6ED. 14, 17. 20. 24. 28. pump)
Middle pump cartidge T6DCC. T6DDCS. 31, 35, 38. 42, 45, R- right hand for
Rear pump cartidge TOEDE 2. o clockwise 5-S5, FKM seals
T6E. T6EC. 42, 45, 50, 52, 57, L- lefthand for ’
T6ED. T6EDC (S) 62, 66. 72. 85 counterclockwise
The data of relevant series, model are unanimous, please refer to Page T6 single pump specification.
M
H S N
| v
< Ol
<ol }F
e T
. E -
L B
Sliding bearing M (Rubb N (Rubb:
Cartrldge name diameter DR = © @B = ®F | 0G| W N w:sh:rr) wgsheerr) o &
Single pump cartidge T6C| ®15.9
Front pump cartidge T6CC[No sliding bearing
Rear pump cartidge T6CC. 95.25| 99.4|93.9(61.9|72.1|4.8 | 89.1|4.8 [43.7 88. 5x3. 53 60x3. 53 77.7/5.5
T6DCC.T6DDCS. T6EDC(S)  * 1905
Rear pump cartidge T6DC
T6EC $22.225
Middle pump cartidge TEDCCNo sliding bearing| 95.25 | 83.4|77.3|52.6| \ |[4.8 \ 4.8 |43.7 89x2. 4 52x2. 4 77.7/5.5

Single pump cartidge T6D|
Front pump cartidge T6GDCC

Front pump cartidge T6DCN liding beari
TGDDCS O shiding caring

$22.225

123.0 | 132.4125. 8/ 71.9|102.2/ 6.4 [108.1| 8.0 |41.2| 107.5x3. 53 69. 5x3. 53

Rear pump cartidge T6ED No step
Middle pump cartidge TGEDC (S) $28.6
Middle pump cartidge T6DDCS| $22.225

Single pump cartidge T6E| $28.6

Front pump cartidge T6EC 143.08| 150. 3{142. 5/ 88.0(113.0(/ 8.0 [137.0| 8.0 |49.2| 136. 1x3. 53 85. 3x3. 53

z
o

T6ED. TeEDC () \© Siding bearing

Inside spline tooth outline parameter of rotor
Cartrldge name

No. of teeth Pitch Standard angle Major diameter Minor diameter

Front pump cartidge T6CC

Middle pump cartidge T6DCC

Single pump cartidge T6C

Rear pump cartidge T6CC 28 40/80 45° 18.87 17.4

TeDC. T6EC.T6DCC. T6DDCS. T6EDC (S)

32 40/80 45 21.41 19.9

Single pump cartidge T6D

Front pump cartidge T6DC . T6DCC.T6DDCS
Middle pump cartidge TBEDC (S)

Rear punp cartidge T6ED

Middle pump cartidge T6DDCS 20 24/48 45° 22.89 20.5

Single pump cartidge T6E
Front pump cartidge TGEC. T6ED. T6EDC (S)

25 24/48 45° 28.19 25.8

34 24/48 45° 37.72 35.4

T6 Series — Vane Pumps 12



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

